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You are an Investi -atin officer; the diw =i
primary accli%cq in agh’VII5 a%sqgsinatitpn J . "
case is offerin uge bribes for T fr=sT C e 11 FiY
manipulating evif'ence %nd influencing (B) N
{%ges to %nsgre acquittal. You should : soh! R a9y aim il
avold investigating as per your 4 _
B) independent pl%fcsflgna] jg%gem%nt. 3R wEHhf & e =R |
remain uncorrupted an resent :
< facts tl;iansparent gltn court P e (C) TR gt =l =nfee A IR G4
retend to agree but submit we ITA ) T EIT%Q
: (D) Fabriclated bggus e\t'liderlljcc. ' ly THEH ! i G !
com on records ‘but secret Cod] FHR T TR
- colle:rz:tydialogue against accused. 4 (D) e af_{ef% 3
_ . Wﬂaﬂr@mvhﬁmmﬁq |
2, IMTH gﬁ-m Sﬁﬁﬁrﬁ F T H A g; You are a constable in a special cell that
THH W HE TR % 3R Tl i deals with cyber crimes and online frauds.
U & g, amet : You have been trajneq in various aspects
(A) TR w1 FE % fo we of cyber security and digital forensics.
| Wﬁﬁﬂ LN m@ﬂaﬁm However, due to 5 shortage of staff, you
(B) feranfeat % fow wiaw | are assigned to a patro
_ AT 6 S T iR | |
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You are stationed as a police officer; to
prevent further cases of card cloning -at

ATMs, youshould: —~ e
. card " cloning . machine
() E}g{’g‘@fes to understand n%emodologY-

* (A) do the patro] d

Suit your expertise, You should :.

uty enthusiastically
and leal_‘n from the experiences of
other patrol off cers, '

do the patro] du
complain aboyt

(B) ty reluctantly and
t to your superiors -

! ‘Togs and colleagyes.
(B) examine ATM machine access O ot caghn

. ‘patrol d tl
(©) g?arlc?ggéaéfssemr each in all ATMs © i) but constantly

identify suspicious-accomplices.
Egédggragl)r. isable all A Ms in.
the'jurisdiction. -
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look for opportunity of taking leave.

refuse to do; the patrol duty and .
Insist on staying in the cyber cell.
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In the climax stage of a nationwide terror
manhunt, you learn your only parent
suffers a debilitating stroke. You should :
commit singular focus expecting
siblings to handle parent.
remotely coordinate certain areas
without Ops leadership.
conceal news avoiding distraction
till mission completion.
handover reins to accomplished
deputy for family priority,
fifEar & TeTehR % Fikfaw qed h i
A T, TR : '
(A) sy wrfer & R s afen
© frliares ®) TITANE HET AT |
frvara FEN FA & e ar wut §
iR @ ReTT T W IR
L TR | .
(C) e el siftem aftv i STRAR %
g & e e TR i
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‘When investigating rape IO
g]i]dcncc from victim, you should :

ansfer to equricnccd Woman
@) ilr-ispector without direct
involvement. =

ersonally interview the victim in
®) glain clothes to build trust.
i i t.
without any women police presen
complete  documentation along

with FIR using pseudo-name.

(D)

forensic |’

focus on Medical test ruthlessly

[ 'S ns
transgender CIt1ZE
and dignity
enforcement

As a police officer,
report facing }_mrassment
violations during law
interactions, You s,_hould 3
(A) take complaint and for
Human Rights Commission.
(B) implement’ mass sensitization
drives on appropriate conduct.
(C) enforce strict disciplinary actions
against offenders.
(D) depute gender-rights community
volunteers for engagements,

forward it to.
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As a p! lice, offi i
olice o ice in
religious mint;l?iﬁésyoub:i?ltgme fiiﬁ?ég

neighbourhood entry, Yy ‘
(A) enforce di\';irsitm1 PiouM -

minority communit
refer complaints Y officers,

welfare schemes,

(B)
©)
(D),

1alogues to ease tensions,
arrest and  prosecute
‘societies flouting laws,
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Sy fered T |
o uH YR At & w0 H, s @ |10 SR (7) % T T ,
Rt % o gfer wovm & P TR S | o e WIS
3 | Prefefen 3 | =8 @ 39 AfEH F (A), e @) =T
AR PRERTE TR ? Qe
() -wEITES () =i ()
(B) Tha AR Find suitable alternative in place of
(C) ufeTa e question mark (?). '
(D) VI TR A Mother : Child : : Cloud : ?
As a police officer, you are assignedftoha (A) Weather (B) Loud
lice station in a district. Which of the . . Qhi
?‘glfgfv;ng 1122}:: t?aml: gf‘? the of];cer who (C) Ramm (D) Shmel
is in-charge of the police station ?
(A)n Deputy Inspector General 11. T gfe™ it & w9 H, 3 it
(B) Circle Officer : ﬁﬁ—fﬁﬂ@@lﬁﬁmﬁ%mm
C) S intendent of Police .
D) Station House Officer . e maraTera 3 et 1 Feeie A € |
9. U Yferm ftrepTl % w9 #, FHE AR HA I - ..
¥ e Frofa o # == wrfest s 7 (A) SenforT THEl = TEEal & Ty
(A) =i Afes gt w A e, Rﬁmmiﬁmﬁﬁmaﬁaﬁ
ot €t & v forened 3 ferodia & ) - HagHe g1 9IeT |
(B) feafa = fore Wyl 3R formm & (B) 3T ael I TR WA §UH
.meﬁmmaﬁaﬁag%a - frearsit 3 e | =1
g | TR T R )
- (Cy w9 R e T T T T R ST St e |
form1 35 aMeEil 1 T B | (C) gl o Tu Rl & s =iy |

(D) =T aRffE e R

(D) IR I @ @ A T D
feFm, T 1 PR I & T

T e wm e =i |
& | As a olilce ertain relic
offi
As a police officer, what would guide customlsJ violat::er’ Scl:lertam relt(g:mus
‘your decision-making in enforcing laws ? directions -avpreme ourt
(A) Applying personal moral values 1S on entry of women in places
even. if they conflict with of worship. You should :
established regulations. FORPIP ' s
(B) Balancing legal requirements with (A) sensitize opinion leaders leveraging
empathy and consideration for the spiritual heads’ assistance.
itiatlon: . :
©) ;lolfoigit;g the orders of your (B) publicly threaten charges against
' superiors without questioning their customs upholding court rulings.
judgment. - (C) avoid the situation by taking

(D) ;‘:trici; adherence to the letter of the
¢ aw, regardless indivi
Circumstagnces. of individual (D) enforce directions by removing
'_@F’ﬁ“?““m”mm-mnﬁwmwm,..,,,f,,.w Opposing groups if necessary.
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Choose the correct altemnative from given
ones that will complete the serjes:
2.3, 15.9, 79.6, 423, 2574, (7)

(A) « 18067 (B) 8432

(©) 10300 (D) 5632

G )s@) s

FC W H “MADRAS™ =

SR KNS

“OWNHEQ” foran smem ® | 3eft e
“SUNDAY" %t &8 feran smam 7

In a certain code language “MADRAS”
is written as “OWNHEQ". How will
“SUNDAY"” be written in that same code ?
(A) UWZYWR (B). UWZRYW
(D) WUZRYX

W IW # 7 fit e 2, f 98 3

| T3 IR g @ 3R 3 et wera @ | 98

o & ot g 3 gean @ ot 7 el
3T 93T R | 37F T A9 Wi fig @
frafemdd 7
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Shyam travels 7 km North, then he turns
to his right and walks 3 km. He again
turns to his right and moves 7 km
forward. Now in which direction is he
from his starting point ?

(A) West ~- (B) East

(C) South (D) North

ﬁmﬁlﬁamﬁ'ﬁwﬁwﬁﬁlﬁﬁ
form =t Stew Fo T el € |

R A R R e |
Ay TS By §E
© el (D) v

In the following question, some words
are given. They have some common
features except the odd one. You are
required to find odd one out.

(A) Ravage (B) Distress

(C) Harass .
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18.
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Sireft qoiaTen e A € 7 o
If in the word “SPIRITUAL”, posmfmed
second and fifth letter 1s mterchang th,‘
similarly position of fourth and sncd
letter is interchanged with seventh an
ninth letters respectively, then how many
pair of letters in the new word -hav_e as
many letters between them (f:lther
forward or backward) as.they have in the
English alphabet series ?

(A) 6 (B) 4
C) 5. o 3
@Uﬁm(noon)%mﬂﬂﬁﬁ,ﬁﬁﬁ

B 1 4 79 10 fire W, w2 < € uw
i -

A clock is started at noon. By 10 minutes
past 4, the hour hand has turned through
(A) 135° (B). 125°

(€ 130° (D) 120°

T 6 w51 T B h R T, o
wiE 2 | W % Ry € | ofew,

TR 1, e g R e, iy

IR ¥R | U, g ¥ e
wEEg 7

(A) i (B) . ¥a

(C) wi§ (D) Sftesit

Suresh’s sister is the wife of Ram. Ram

is Rani’s brother. Ram’s father is .

Madhur, Sheetal is Ram’s grandmother,

Rema is Sheetal’s daughter-in-law. Rohit °
is Rani’s brother’s son. How is Rohit

related to Suresh ?
(A) Nephew |,

(C) Brother

(B) -Son
(D) Brother-in-law
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- w42 ' , @m%ﬁaﬁmﬂw:ﬁxs?ﬂﬁg,
: ﬂ%ﬂﬁmﬁﬂw & ST 4 x 3 3 Tt e ikt 1 3y
ik | m%ummwﬁ;ﬁqﬂam

i\f;'h f the following diagfams best miﬂ%ﬁm—g"?‘" ”'3"3%%
ich of the follo : . s :
indicates the relation between India, mﬁmﬁﬁﬂ% | 379 T T 1 ¥
Gujarat, Surat ? Waﬁ@%ﬁﬁmmmélﬂﬁ
O e o1 T & Rreh o T T € 7

('A)__ (B) O O “There is a cuboid whose dimensions ar
- 4 x 3 x 3 cm. The opposite faces of

@ . dimensions 4 x 3 are coloured yellow,

© O (D) @ The opposite faces of other dimensions

Sy 4 x 3 are coloured red. The opposite
+ 24--%° T faces of djmensions 3 x 3 are coloured
20. TEH:120+3+8x3-40=7 . green. Now the cuboid is cut into smal

cubes of side 1 cm. How many - smal

~ Solve: 120+3 +8x3-40=17
cubes have three faces coloured ?

A) 14, (B) -24

) -256 - ®) 24 (A) 20 (B) 12 .
(C) 16 . (D) 8 :
21, Prafafea sl &1 st wit ok i . :
fo e e o R | 23, ﬁmﬁ“{f@amﬁgsﬁﬁmnﬂéﬁ,ﬁ
. 15 91 37 MR feg e §, R 4 1
Study the following figure and answer . ﬂ, 3
_ the question gi\éen below. TR & AERT A
.S“‘" ™ (] -y THAT R | B IR G | |
Ra Trained nurses In the following question, a word ha |
ATAN O..;. ﬂmﬁam / been given, followed by four oth¢f
A arried ;m;;ulatmn :Zorclls, one of which can be formed using
—> AT e lette i i t
. Nurses in hosliaital word. s of the .gwcn' word, Find V%
1 7 & T AR R ? MEASUREMENT in *
(A) TrenfEa wftida w8 ~(A) MANTLE (B) SUMMIT |
® ShaRawRRmd . (O RETUNES (D) ASSURE |
(C) areqarer & feyanfaa g : |
o i | 24, T iR At @ 173 st el 7199 |
?'5”3"“' H W R, 3w iR § gufead A I |
What is represented by the number 7 7 e fhadig 7 '
(g) Mamed-trame.d nurses In a row Mihir is 17% from the left an
(B) Unmarried trained nurses ~ 19" from the right, then what is the to!?
(C) Married nurses in the hospital - number of candidates in that row ?
(D) Trained nurses . (A) 36 . (B) 31
(€ 35 (D). 29
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25. % A w e e b (26 ﬁﬁ-ﬁwﬁﬂﬁﬁgf’gﬂﬁ

' IS N AG F B w2 | %ﬂ?ﬂqﬂaﬁﬁaﬂ%%
Ao e e e
(1) WresiwsAgedmd | iﬁﬁﬂm/@;?ﬁ

v (@ FERTwHEERmY | | T“q"ﬁaﬂﬁaﬁqﬁﬂm,w
(3) T 3 Ted 3w A3 FAMY | o mﬂgﬁ%g,a}@w%
(4) T 37 g i F AR | M@ﬁmmfﬂfﬂ%|
AR R LTS
3 wireen & e =R Sl v S . TH Yo &9 & it mrfafr %

Fresita e & | Sugs =1 var @ |

A scientist is trying to recall the access
code to a secure . laboratory. He

remembers the following details :
3 EE . (1) ' The code starts with the digit 5.
N - (2) The code ends with 987.

(3) The second digit is the sum of the
first digit gnd 3.

(4) The third digit is half of the second
digit. :

Now, considering these conditions, the

scientist has ‘narrowed down four

potential access codes for the laboratory.

Find thé suitable one. _
A) 548987 (B) 5849877
(C) 563987 * (D) 542987

TS I F B |
(A) 131 AT JEm T § |
(B) et Frend 11 IITEw HET § |
(C) 13RI ST 3ITEwI Fid & |
(D) e Fred | STTEROT T R |
In the question below two statements

followed by three conclusions numbered
I, II and III are given. You have to

be true, then consider the_ three
conclusions together and decide which of
them logically follows beyond a
reasonable doubt from the information
given in the statements. '
Statements ;
I.  Water has no shape, has volume.
II. The knowledge is like water,
flowed from one side to other.
Conclusions : - o
L. The knowledge is interdisciplinary.
II. The knowledge is bound within a
specific area. '
. III.  The knowledge influences the core
‘ of mental activity directly. .
(A) BothIand III follow.
(B) Only conclusion II follows.
(C) BothIand II follow.

(D) Only conclusion I follows.

-
+ A PIILA TS AN PPOTATIFL FTNTATI TS RN POV Tl N PIUIA TVl (I P ST SR PODZATS Va A0 ML ATV AN P A TP XS TNV
ATITS
P .
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assume everything in the statements to -




2.9 A B s (X) § Ry g g B

(1), ), 3) 3t () & @ 7 & gt
T T |

Find out which of the figures (1), (2),(3)
and (4) can be formed from the pieces

1ven in the figure (X)
_ 2 3 ©

ey
(B) (2)

FgeR v v e vt b v o 2 |

Find out
alternatives
appear when the

__q.c_n_n___ at the dotted line,

Q) |©
e

fm2 1 E, Df At
Hafia R 7

(A) g (B) T
©) ¥ D) T
A is B's sister, C is B
father, E is D’
relatedto D 7
(A) Grand daughter
(B) Grand father
(C) Daughter

(D) Grand mother

30. T ey g o
UF A7) Prera. e 2t |

Choose the alternative which closely

resembles the mirror image of the given
combination,

BR4AQI6HI

(A) IH91QALSE
(B) TH6IQALAYL
(C) TH3IQALAH
.o (D). IH3IOAMSIH

28, ﬂzﬂiﬁﬂ@ﬁ?qﬁ&%ﬂ

from amongst the four
as to how the pattern would
transparent sheet is

29, ?m&mﬂfn.mﬁﬂm_?nﬁ
1A, DAR

s mother. D is C'g
s mother, Then how is A

faw Ty W £ g

31

32.

3.

3,
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* basket half-filled 7

Choose the figure which is differep, froy
the rest.
MU I Ue 1

U EE ML L 3

) @ 0 @G
(&) @) ® @ .
© 0 © 1) |
ﬂ&ﬂm@&ﬁﬁﬁﬂ?ﬁ&ﬂw_

ot R 1 2R a0 o e g
2, 0 Fn0 T ot wl oft 7
(A) 59 fme (B) 47fmz
(C) s5fme (D) 38fye
The number of apples in g baske;

W

te

doubles every minute, If the basket is fy
of apples in an hour, when was the

(A) 59 minutes

(B) 47 minutes
(C) 55 minutes

(D) 38 minutes

]

12
S 1.2
: —+=x 3=
W HL Emimx# uxua E__x
L N
Simplify : 108436 x & + 2 5 31 Wi
: 4 5 4 .:.w&
1 . W,
W @ m,mem_
| 15 il
- —_— Ay
© 25 @) 1o %
. —.—
nﬂ?ﬁumwﬂuﬁmﬂaiwﬂﬂ
T W o g _
L. ysm 2. T
3. fa 4. g
5. =W

Which of the following option would be

1. Exhaust

© 2 Night
3. Day 4. Sleep

L Work - .

A\»V u. 3, 2, 1,4 Hmu 3, m..___- 2,4
© 351L42 (D) 1,3542

meaningful order of the following words?

= S —

e 61, 7 st 1 PRI
% o e w40, S & s o € 7
@a%i&ﬁwmﬂ&ﬁﬁmww m.wwqmﬂn 5 R
A) s (B) "= Erame s (A) ERIHCH e
(C) S ket et (D) Pt it ) fRwe (D) Fhacvesting
Which of the following is the [ar est salt The cultivation, growing and h of the
water _mmoo_.. _qmwn situated at a._nmmpmﬁa‘ of grapes is known as whic
anm_.. o._._a.ﬁumﬁ:mrn Lake following ? lure (B) Pisciculture
B) The Panchbhadra Salt Lake (A) :m_..:o: tur D) Sericulture
g} dheLonar Crater Lake (C) Viticulture  ( o
D) The Kolleru Lake PR TE
: . Yenfsen i vt T
36.  v3a w0 @ P wm v d ¢ (4 et £ | m_m%ummﬂﬂzﬁw
me Mﬂ g Mww MM Pt d A PR T A fRm e 7
The white light is composed of how (A) wAleH (B) dhEHTg
many colours 7 ; (©) ¥ (D) BTY
A) Eight B Six iladila hills look like the hump of
MQ Seven | (D) Five WMWm%ﬂw_ range of hills is situated in
37. R Is Pt it s w which of the mm:oimmww”nﬁwhﬂ._ﬁwﬂzw
wiRme 7 : (A) Kamataka Hondel
1 C) Kerala (D) Chhattisgar
(A) el (B) w=RRm (
C) i (D) afm anhia . P 3 & R g Riffs v 5 @
m._.wa Great Barrier Reef is located at the 4 : ﬂﬁ&ﬂuﬂﬂd%ﬂﬂﬁﬁ@ﬂﬂd.@ﬂw ?
coast of which of the followin countries 7
A) Philippines Mm.. Indonesia_ (A) =fE sergwew
g (O M ) ndoness R o e —
L38. PR § 2 #R 1946 ¥ wiw R ————
) %ﬂﬂﬂuﬁwﬂﬂ.ﬂﬁ@w (D) ama ot Te i i i
1. i Lanka is separated from India Yy a
....._.n. Mww Mﬂﬁaﬂﬂwﬂuﬂmﬂﬁ mw__._.oﬂ nwu__waw_m; sea formed by which
° AT of the following ?
o I © ﬂ.%%ﬂ_ﬂrﬁ&m (A) The Strait of Messina .
A—D M._,U_JNa ﬂ%nu_wsm the following was the (B) a_,w_%usm“_r Strait and the Gulf of
President of the Constituent Assembly of (©) The Makassar Straii |
Mwm_m _m_.__ WMMEE m._hww@m i (D) The Eight Degree Channel
B) Jawaharlal Nel N %
. B.R. Ambedkar 43,  HAY S e W ww Frefafaa
wmw mhaun Vallabhbhai Patel o Fe s # ambE W e
39, “yar iR R W Pt § R Hiepioen HRwT R 7
| fem TR A AT 7 (A) stfem  (8) ww
(A) umR (B) s © R (D) ?ﬂh |
(€ wafa (D) wfcm The Sonepur Cattle Fair is mm. MU_EE»
The “Prayaga Prashasti” had been event held at which of the following
composed by whom among the states of India every year?
following in Sanskrit ? Banabhatta (A) Odisha (B) Assam
(&) Bhaveohun (D) Hanshens © Sidim (D) Bihar
OABILA T oL s .I W LAY & L T R LT —
A
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u, A fog e @t Pt A |48 9 .
afea b R AT 7 e @M s e fefiies (NaLgg
(A) 2593 ®) 59 s fefifea § 3 )
© 73 WHWR 1 4 fg 5 .
“World Book D o) ZFE (a 1. Imowen # et Pl
o o D oy cvery year T ) T, THETg s R sfig d 7 Fafem |55, g e § 3 ) et &
(A) 25June  (B) $®Junc (B) femen, s (A) w7h i F @ . w&mﬂ.ﬁnwﬂﬂw&ﬂﬂﬂﬂw 7
(© TApil (D) 23%Apri ! farerl
pril ©) W, Ffem (B) (a) wERw  (B) WEH T
a\%ﬁwﬁaﬂwm@im ) nm_u%mﬁﬂ © s@g (© wmEEmE (D) v fird
mm_.mw ﬁ&ﬁﬂﬁ% Noticd Aot ﬁ%_awn_oﬂ_m_.__ﬁwua Mathura is the birthplace of whom
m w__m_w ff Fog HE 9wl (NALCO) is _.Lﬂmm_ .Moa_ugu. Limited - famous for snhrompmﬂn:m ﬂ,ﬁ_. Pradesh is wuamonmm_wn E_ﬁs.mum that is also known
at whi its registered (A) Glazed ollowing art 7 ) SHoorn
A W B e T e flloying phes Yo ® mgﬁmﬁﬁq ) dorg Rama (8) Lox Krishna
_Wﬂ_ﬂﬂ .ﬂﬂ.ﬁ_ﬂ » = T H
i & .#&%_HEV the followin Mww w_ﬂmﬁ. Assam Pt (D) Carpet weaving 56 ST nﬁaﬁnm@ﬂ?@m@ rmo“ -
had evolved a local ubaneshw: : 51, P=fafga § ) T &
; %ﬁuwmﬂ_nu kulhs over four (D) Noonmati, Assam . uh7 TR I W IW R O M_Mwam ? .
(B) mnahwurm 49. fawm wnw g (A) .m..H (B) U ©) Mm (B) m. ”
%“ Mmqsnﬁ_m_.&ﬂr Frafafaa i a fem (WHO) &1 g&aem ¢ Mm_w_nH (D) ¥ Akbar's Euﬁo_nuah_.uu_ e
b et w o S el B e
. - y *Bamboo
o e e R | foin, forzredte | @Ok © Awa © Umso  (® Sikandar
(A) The TR _ (€) &R, AfRTaw _ 53, FE de WRg N 57, fmafafam .
(B) ﬁwﬂyzﬁa (D) e, et T T Pk | S 3§ ST A T W A
SV AT, WA . &, ssm wzh ¥ 3 T9 R AR A A
(C) T-wgnfagw , The headquarters of W : *.F.._w Fhefafmdaftm i d e ¢ &
M.W—N.m ﬂ.n—dd._u__._ et Organisation (WHO) is “_On“““n—m._ —ﬂnu“__._.._.__ (A) ﬂ..lnw_ﬂﬂ-.ﬂm (A) i (B e
What is the_highest post f of the following places 7 e ot whic TR (B) ® © Fwdm ) .
Q.%u:%n:o: in India ? post for Census (A) Paris, France o amw_.qu.aﬂ (D) s Which among th (D) <aFew
(B) w_.n.w._w.mmﬁuuw_nu_ Director (B) Geneva, Switzerland also Hnnﬂ._n“a:_._ﬁﬂ famous sanctuary that folk dance Mw.mcﬂwnww:ohw:m.in:,rsn?ﬂ
© noﬂammmmcum_m :—ﬂﬁﬂ & Census MWW Brussels, Belgium wsﬁw_ and o__,.w_‘_ﬂhwﬂﬁqawmﬂ& from Mﬂﬂsmﬂﬂuﬁw and _...E_.,Mn ncﬂ.z_”ﬂmm_.mo.w._snn
) LA . [a] i iri 1o
Ew meuq ..wnm_mnﬁ General Amsterdam, Netherlands hﬁmﬂ L which of the _.o:wm.ﬁn_m © ok R (B) Rasiya n
4 N icer : 50. foft 2 & wwd (A) Sant x“ﬂmﬂaﬁﬂ © TRE ' 40) Casiaily
. Mﬂmﬁ%@ﬁ%ﬂ?ﬁﬂmﬂﬁm@@ﬂ Fgufes SdEn m%&mmﬂ?ﬁa@mﬂ © Gon - , . uﬁ&Mﬂﬂﬁmﬂﬂ&ﬂzﬂﬁa
. ? onda A
Mww. “ﬂ_fw& M”Wﬂm_ﬂa_w ? § “ (D) Ballia TEM IR 7 3 Prefafisa 3 @ e
TrfiRe : . A) €. TR
® shipaen O e ﬁ
(C) ﬂﬂ_ﬂ“ﬂﬂﬂ_._um.._ﬂ . C) iR STEH g%uﬂ@d— - (B) W
mm_w: o ) A.Hsunmnn._dmwnm:&nﬂe.v el gi@%%i%% ’ Aﬂw bﬂn&ﬁwgﬁﬂg
marasam w oo T :. 1 .
Work of Which o the follawio e wilisray GF Eourgey who o b (W) ®wE @) v O N o
(A) Mahadevi ¢ following writers 7 ovwn as which of the fi : ﬁﬁu T (D) wmm.mﬂ r Hindu Universi
(B) Bharavi 1 A.?u Rusticatio D:D‘._.u_-mﬂ Which of the followi % Pandit Mad _?.A.Gﬂ”“w__ was founded _Uu..
(C) Mahakavi Kali (B) Unpl n : platforms is best suitd socs! medh cooperation of whom Malaviya ~ with
: ©) Kalhan idasa © planned Development . networking and job _,E?&.wus.ﬁsa_ (A) Dr. Anni among the following 7
“ 'FK-3 Ew mo_onmmunoa :m“ __.Enas (B) mBEE (B) E.._yﬁ“:wsnwa ’
KR o e . : 1_...9*.!! Bsmw.a (D) Facebook MMV Madam mErmm.._wmoH
s mresnormn et ) e e e g ) Sardar Vallabhbhai Patel
o H~ e ¥ P S .
AT S e g




YHIGHTETSE (UPSSF) 1 [0 A1 &4 |
(A) I W el §iE wrd
(B) I| W aifrs frwiftd wid
(C) I 5w et Rt wied
(D) Im wew vive i wid
Give full form of UPSSF.
(A) Uttar Pradesh Social Source Force
(B) Uttar Pradesh Solid Security Force
(C)  Uttar Pradesh Social Security Force
(D) Uttar Pradesh Special Security Force

60. fRm fim demE REW oy %
mﬂ?ﬁﬁ?ﬂﬂ%ﬁﬁﬁ?

3.

63. 3-um & wimz m A
iw?%ﬂﬁaﬂaﬁﬁ
My -

~ -

TR

¥, wrad aft ez g foram
F T TE T Fgoma 27
(A) ¥R (Sourcing)

(B) <féT (Cheating) d
(C) M (Losing) ;
(D) frfiim (Phishing)

An attempt 1o obtain
53:._._2_.0: such as Usemame
and n_.nn_:unﬁn_ nn.nm:m etc. n.a_..
source in o.ﬂswcmmm_ _“m__wnu a Stworty
(A) Sourcing (B) Qﬁmaam.

Em_maoﬁ d

(©) T (D) IWm w3 64. ‘T Pl
Nivesh Mitra Mobile application is an n@@.ﬁwﬂ&ﬂumw .
initiative of which of the ollowing states (A) a.ammw - (B) TH
of India 7 (C) wemwm D) wffy
(A) Assam (B) Telangana ©) 3
5 “Taka” is the currenc of which .
(©) Gujarat = (D) Ugtar Pradesh following countries ¥ of whic a.?.
6L Rt 31 freafirfen 3 & g 7 38 (A) Thailand — (B) Tyrkey
TR 7 : (C) Bangladesh (D) Serbia
(A) el ®) FHmnT g, Fresaften & 3 o e showd S
©) e (D) T LRGN o
Demonetisation is also known by which (A) <Newd wwma e 3 e R |
of the following names ? U W 137 o v d | |
(A) Note Ban (B) No Currency B 299 e 3
© Cashless (D) Newc (B) fewd wge ukah i
. ~umency ﬂmﬂwmﬁwﬂﬁmﬂ@aa.
62. aﬂﬂaﬂﬁﬂ@ﬂ_.uocmﬂgnﬂ ﬂm&%wﬁ%&&ﬁﬂa
ﬂm@ﬂﬁﬁﬁu_ﬁsaﬂﬂuwﬁm ST SR et R 1 i
%%ﬁﬁmﬂ@@mmﬂﬁqﬂﬂ (C) et o Tasm-smuia s | |
IR 7 (D) gt iR ot o d AR R
(A) A% (Consolidated) SR S
(B) Ty (Grove Lang) outich of the following sentences i
(©) $R ¥ (Agricultural Land) (A) GST is a common law _%“
(D) Yfd (Holding) . EmnnaEnHz:m:mrE,: m%_ R
A parcel of land helg und under single administration.
one lease, engagemen; wﬂnmqhum_mﬁﬁ%h (B) GST is a comprehensive MMM.{ ﬁ :
as which of the following according to collection on_ both mmuﬁ with -
Uttar Pradesh Revenue Code, 200 benefe of the same f o
(A) Consolidated . Denefit of Input tax ored
(B) Grove Land ot cuon of value, - etk
. 1 tination-
ﬂmv Agricultura] Land me .H,_._n.mo_ umws Mc__ﬂw_n levies &.EB .
...EM!V Holding goods and services. e}
—ﬁau ignlag-!l:a:g . AT i N WLATWT S ten i PP ATY

67,

68.

= 3R

Pefefea 3 3w ¥ dfyizd 3 ga @ 7 W@

el SRR Fe, o | 69. mwﬁﬂwﬂmﬂﬁﬂu&

(A) ﬁwﬂmﬂﬂmaﬁa_ﬁmﬁz@ s@%ﬂﬂﬂﬁwﬁﬂmﬂﬁﬁﬁ

®) ST g wewg (a) % (D) e

(O P - € e Cabint has  recently

(D) =mad seome A Ecament betwets India a0d which of

Which of the followin} ports is located the following countries ?

in Kuchchh, Gujarat ? (&) Gomany  (B) Silar ka

(&) Kandla Port (Deendayal Pory) Y 3% IR

(B) The Jawaharlal Nehry pogt 70. T @, st N B B

(C) Paradwip Pont Fieas waa Preffad 0 @ fea =M

(D) Mommugao Port g R 7 .

TR 5, o S e e 3 2 AR,

Wmﬁﬂﬂﬁnﬂ&ﬁﬂ?wﬁ © R, meda

M a1t $ea (NCDFI) % gearerm 6t (D) HTATET SR, Wiy

STUTTen w8 ¢ Recently, Indian Navy's Fast Attack
: Craft INS Kabra has arrived at which of

(A) g (B) drp the wo_m.amia Eumnmw-.wm:rn -

: e X

© SR 0 e B) Port of Jebel Al 0VALE.

Recently, Shri Amit Shah has laid the C) Male, Maldives

foundation-stone of the headquarters of D) Matarbari Port, Bangladesh

National Cooperative Dairy Federation
of India (NCDFI) at which of the

7L %m@ﬂuﬂgﬂﬂ

TG o

following places 7 A) ﬁﬂﬁ.ﬁﬂggﬂ
(A) Anand (B) Bengaluru B) A AR
(C) Jaipur * (D) Gandhinagar ©) weedR fwah
wﬂ?@mmmﬂuﬁmﬁzﬁ-ﬂa% ﬁw uuaﬂnﬁﬂw_ﬂ__ . .

JERE N R Ojomong the following was the
ﬁﬁsﬁaﬂﬂw?%ﬂﬁ Mﬁm&ﬁmﬁ%ﬁ@h@&

a

st 2 C) Badruddin Tyabji
(A) TS 7T T R D) Mohammad Alj Jinnah
(B) IR e 2. Pl § 3 el ww @ 6 wif
(C) I gwEER TN (R i s HEC
(D) ENTEH YRR ﬂﬂ_":é.mo_,,.eﬂﬁuﬂ?aw 7
Which of the nm:os__.sw awards is given (A) 53@@ (B) =t stfr g

to motivate Cooperative and Milk
producer Companies to grow and to
instill competitive spirit ?

(A) National Gopal Ratna Award
(B) Dhyanchand Award

(C) Arjuna Award

© LW IWER (D) g wd

Who amion the  following  hag
inaugurated Kochj Lakshadweep Islands
Submarine Optical Fiber Connection

~.m0,..u9 recently 7
Shri Rajnath Singh
Shri Amit Shah
Dr. S. Jaishankar

A
B
C

(D) Dronacharya Award

Shri Narendra Modi

et A S L
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73

74.

75

76.

13.

78,

79,

80.

81

frefafaa & @ fee fees @it w2
AEqE 7

- (A) T®R, T (B) T, @UER

(C) wem,fen (D) <=, 9w
A A wei g Pl § @
foa vt & waia= € 7

(A) su= (B) Iwd

(€) : (D) w8

' 3 I ¥ dre A R’ 1w T
Fore e g Freafeefam 3 @ A w1 8 7
(A) &R (B) am=

(€) ¥mm (D) A=

T fae W yfrem-fimmds w1 5@
F-AgR 7

(A) ¥o9d-9Rhd = UH W - g
(B) TMR - 1N = 9iz - fim

(C) @ — 5o =07 -9H

.ﬁUu E_.ﬂl.mdﬂ .Hﬁl.ﬂﬂﬂ

frmfeiaa 1 & form e H g a7

(A) AR ATl s mw g

(B) U uZE Mg |
(C) A -l 1 W e R |
(D) ¥I$H JHIH ! I TG £ |

Frefoafen 3 @ gien e &1 997 A :
(A) vofFm - (B) HReR

(C) == (D) faEm
Tr=fafea 4 8 fra v =1 wain weam
qEme? |

(A) 3™ (B) &

(C) wm (D)’ TEmwR -

g o @ w0 ) Yeifed =
ﬂﬂmw : ;

(A) TOEERE (B) HHIH SRF
(C) T =% (D) FHwR®

. Pefafmidmprreshat
- (A) v (B) &M .
(D) =™

4

82,

87.

88.

89.

A L AT L A sl T T, S A T T e LA T T T U Py :

14

85.

86.

‘e T A B ATITEI R 7
(A) 3 (8) fw
) & (D) ft

‘il TR R eR a7
(A) TIRT qHE

(B) g™ _

(C) orsmdive @™

(D) fam e

i, FE P AT F ITEW § ?
(A) FveTaNs wEAm .

- (B) Trmas wdam

(C) WIS §E4H
(D) freaEs wdm

i :
(A) wim+em  (B) R+
(C) wigu+ 3 (D) ufew + ey
Mmﬁsmﬂis#ﬂanawﬂﬂé
7 &
(A t=sfm (g T R
©) Femfm () sgm e
RiGEEE A T e
fodtow w1 3dm 2 7
(A) TvHTETES: fgro
(B) wH=a R
(©) i i
D) FRR T R

T3 T & R orrd g d

L2ekiifin T , !

© Hmisn () geRmia

g.mﬂﬂﬁﬁan
() ame ®) fr
O ® ®

I - :
" T LA TS Mg s s

A

rchsl o

s
A Pe ke

Qi e e e e

|

e W & d-frede wowm

90.

91.

92.

93.

_
N - 94,

95.

96.

98.

Tm >t WO | T8 99 T 1 9 9
T 7

(A) FHATETE B) wgary

(C) W=E=A (D) wHar=y

‘el 115 FAAT HEat &1 3 ARy ;
(A) HIURY T Hi GG-HGH HEA
(B) WM& ¥aT

(C) HTHAT HET

(D) =3 HHF

Ty’ F1 fEm e &

(A) 5= (B) =

(C) 3™ (D) =&

‘S 7Y, TEHE) T A SR I
fafafisa dasRwe 7

(A) A TR IR AWM

(B) i oo®

(C) ¥& w1 9ga Mg

(D) a1 Erwia A

‘i fra R WE R 7

(A) drm (B) WS W
© MWw (D) "R
et Rt ticagd = 3 R wmed
ThE?
(A) 16
) 13

®) 11

(D) 10
frfofaa # & frg seer 8§ TaF v
LERIEEIT

(A) TA® (B) T

(© I (D) T
froferfad 3w T w1 IR TR
frafeadTdid ?

@A) femn ®) AW

(C) wem (D) WOHI »

‘Tg IR W1 g6 ¢ | T@ 9 6 F
;g |

(A) STE ST [ SR
. (B) WHI TOHABIA

(C) wfm adHAHTE

100.

%%%ﬁﬁﬂ@iﬂ&wﬁ

Fad 39 s SEe @ € T8

m.m@mﬁ._wﬂﬁﬂ@ﬁ.i. mw;._wm._d._.

47 3k T & aawl # feea 3o

aTE § wifs @ o 3 F FEH A

ﬂa&mﬂ#zﬂmm@?%.&ﬂwﬂ_

Saa w1 @ & e e W 38+

R fafa wgeg Hi 3R s TE

Tedt | guT0 AurHRa 3= Rifda wHgE S

T T TiEdl 3, 30 ish # ) wg W

2, el = f aeh! Hfam 3 3T v

&t e oft 3ish f sk ok ST

TgE ¥) TR g 9 ? 3 3R 9% 9

N o1 @ 8 o 5 i ] 3@ R

T T T & IEH WHNE 39T 3

FAAFE AT ATRARE |

R SEw! i fneyd @ud & wifs

(&) T gl & gEl & Arifes e
A El 7 ) _

(B) & 3T v & Wie Y weR a1y
GLIEEORARECIRE Ik C T )]

(© 3 19 wra widw Rifdra qrei @
g T |

(D) 3 3 v & fr Tt Eea |

Fug s G -

(A) Wreta TrRgh i g

(B) wdta Tl ) gaew

(C) v frfrat w1 -

(D) WWd & graet

T B
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101 :ﬁ&%ﬂu%g%ﬂﬁ
TR AR 7
(A) WRdE (B) sk
() (D) &

102. ﬁmﬂaﬂ&w%wﬂm_%w
fog ] 1 avefa AT E 7
. (A) T (B) Hfafk@
(C) ¥R (D) 3=

103, wrdrg w3l & AEF e, oA
aﬁ%.ihﬂﬂ%@d&@&%ﬂ
i
(A) % wifee F W@ & ik«

T8 75 | :
(8) I E TR AT E |
(C) I enfgea 1 YT H Tl w1 e |
(D) i s TR iEaE R )

104l rearé e e off 7
(A) SaGEE  (B) WEE
(C) €aEH (D) §aAWca

105. wﬂ@ﬁmmwﬁu&nﬁa@&@@

FuwEd R 7
(A) ¥t (B) gl
(C) == (D) TRl
106, Pefafga 8 & T FF A TR H
fifaaTae a8 7
(a) PRvaEs  (B) frragau®
(C) WFHAEH () fafu=us
107, Frefaiea # A R Mg W1 TEaTl
qRERTE?
(A) am (B) T~

(A) ¥ -« (B) 9 -

(C) a3 (D) e -W
109. .&&uﬂ?ﬁﬂ%%.mﬂﬂfﬁﬂ
_ wrez & 99 I |

111, SR :

17.28+x
3.6x0.2 |
1728+x _, ..
36x0.2

@Ais B2 14 @Ol

=7 “

Simplify :

. Prefafan wheo § g () S wg

Wit ot rep

What will replace the question mark (7)
in the _.a__oi___u,m._n _.E:%:.m. U}
5072.19 + 368.312 + () =9018.618

M.PW 3578.116 Mv 3578.112

C)y 3571.115 D) 3571.116

. A ded 13 :9 % FITE H | IR w0

HCF 13 2, 71 9<1 T T hitag |

Two numbers are in the ratio of 13 : 9.'If
their HCF is 13, then find the largest number, ~
(A) 143 (B) 169 (C) 117 (D) 52, =

U@ dEA W ATE2:3% 31

2% e 3 3 1 T 2,000 F 3 T ]

) T ST 40 : 57 € W R | WHAH
AR AA TR 7 s
Salarics of Rohan and Soham are inthes -
ratio 2 : 3. If the salary of each is i z

by 2 2,000, the new ratio becomes 40 : 51.
What is Soham’s present salary 7 _

(A) 134,000 (B) 20000 . -
(C) 25500 (D) %17.000 3

e, 20% o 0 A TSI

10 & 37 3T 3 ORI B F joad
. 27y

o & oE 9, &@#w.ﬂmfﬁ
. vias
ﬁ@mﬁ&%wﬂﬁﬂ_%w ? g2
In a certain school, 20% of students ar¢ ,.m.”,h
below 10 years of age. The .,.Eu.ﬂun. o..“..,...m
e

- 3
3

students above 10 years of age is 3

the number of students of 10 years age o
Wwhich 1 48. What is the total number 9172
students in the school 7 et
(A) 110 (B) 90 (C) 100 (D) 80 ..°%

.ﬁﬂ@ﬁ:ww%ﬁwﬁ_o%ﬂ ,

1R 17 @ Rt R T
wﬂ%ﬁw i divided b 119 feays -

number when divi ’ i
19 as remainder. If it is &._m%m by 17,1
will leave a remainder

(A) 4 _(B)2 @lwlrgﬁ

T s, S T P

e
el

« 1 il

117, s R g @ w3 g (121 9 26, 20, 1 B
7 4,460 3 6 T4 W12 T 6,690 B 9T & 1
Fiya v Ak |

A sum of money amounts to T 4,460
after 3 years and to X 6,690 after 6 years
on compound interest.
approximate sum.
(A) T2,991.66
(C) 3,115.33

. 4 TR P, Q ¥R R T SEEW TE
@ 1 P& A T AT QAW
#7 T S w2 R Q A, RA
& % T R 1 9 S o

727,500 % FAEM A AR FTREMR:
Three parmers P, Q and R start a
business. Twice P’s capital is equal to
thrice Q's capital and Q's capital is equal
to four times R’s capital. Qut of total
profit of T 27,500 at the end of the year,

(B) ¥3,121.66
(D) 297333

LT (A) T15,000
(C) 15,000
.5%&%9&»_%@&&
Shag 3.2 2, w0 3= Q #1300 3.55
»_&n&aﬁ_&ﬂ%ﬁﬂ_f

¢ of six numbers is 3.75. The

£ them is 3.2, while the

average of two 0
3.55. What is the

average of other two is
average of the remaining two

ﬁmﬂﬁ??%&.ﬁﬂﬂ&f
uﬁﬁﬁm#wﬁwﬁﬂﬂmﬂ&_cm
£ 2l A & | g I R S S

i

! An article is sold at a certain price. BY

t at 2 of that price one loses

_.ce\». Find the gain percent at onginal

» 'y

26 23 -
.ﬂuu_&ﬁmuﬂ

HifT

_umn_”._ the 21* term of the sequenc
14, B, courese- -

(A) 88 ®) -9%4
(cy -100 (D) 146

e 26, 20,

.%»ﬁﬁﬁﬂma.mmwﬂwﬂm_

uw.um@%%ﬂwﬁﬁﬂw%ﬁ
< ST R | (1 BT = 10,000 m?)

The area of circular field is 13.86
hectares. Find the cost of fencing it at the
rate of T 3.2 per metre.

(1 hectare = 10,000 m?)
A,?.. 76,132 B) ¥ 5,138
(C) 5,808 (D) 4,224

.ﬁm«ﬂwgﬁﬂﬁ..ﬁwwuu&ﬁ

Y1 TR U AT A % = I AT 4o
3 R W@ M 7 270 97 1eat

How long will a boy take to run Bcn_mumw.
square field of side 25 metres, if he runs

at the rate of 9 km/hr 7
(A) 48 dFsec. (B) 40 Fh®scc.
© 42 ¥Fsec. (D) 38 Whdsec.

4 w13 3in 6 el @& Fm A 10 A
o wwa & Jah 6 T%F AN 4 agfeal
FhemF s A A ard 14 2%
it 2 wrsferal 38 Fm @ o i S qm
TARAE 7 le—1)o
4 boys ubnmmmq_unn:nonumnnnm E.mqm
in 10 days whilc 6 boys and 4 gffls can
do the same work in 8 days. In how

many days can 4 boys and 2 girls d.
work ? e

(A) 30 ®) 27/2
€ 28 @) 25/2

. AT A LA T A AT P LTI PO P

P T P Y VR BLA T T P e ey,

© 4 . FK3
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: _
]
i . . . L
' 3. ¥, 125 129 3 T IF F 2T F 130. fee e fam @ af Fin = Ao e & e e [ 141 &mmnﬂﬂummﬂﬂﬁuu?uﬁwﬂm
3R T SR T F IS | Tt §, 37 g SAfwdl B T R Sk 134, 37eR 1 1R QTS ST e I _zmﬂzmq._mﬂmzm%u:w_@mﬂ%
Q. Nos. 125 to 129 : Study the bar graph mmmﬁﬂﬂ,.n«mﬂm‘%uu%&%& ﬂa&.ﬂ.&w_ﬂﬁa H@ﬂ_m_ﬂmw_ﬁ_mwa.w ' . .m.ﬂ:@....ﬂuﬁ_\ :
and answer the questions based on it. 0 wﬂﬁﬁm%mﬂﬂmm ? Mwwwﬂzumwnﬂ_nwﬂn %mﬁhnzwwm m_“‘. _.%” .ﬂﬂﬂ_ﬂwmw 28 3R S wi/® AN
- qiw...ﬂq..wmru.r&-waiﬂﬁ __..qn.w.ﬂ m.a:_whﬂ.: In the given figure if Triangle represents mr%,: Seliex mnmmnw%ru: noawmn_h it? h B/E 3 aegem ¥ % AR ™
s | healthy people, Rectangle represents old - andan e T nmadana P @ FE WAL 5
mmm ) persons and Circle represents men, then MO mnadmna w nmaadna Foq ; F1 WTE = aft avrfad gt
1 a0 what is the number of those men whoare - ; 135, foq mu e A & ag wh foen 3 W " g T ?
w ol healthy but not old ? st ) ; %:m_ﬂa | e ;
; ' : h the comect altemative from : ; gl
’ . e T MMW“ m?ww_mm:wmw mwmﬁ w,__u:__mnmo_m_ v__.p.rn the series. . g wrd § g O
v L] 1 L] L] * g—ﬂ ““ — -
125. 2005 m#, 2006 .&ﬁ IAA .mz 3 4ok A) 87 (B)83 (C)85 (D) 78 1 = 1 T8 3 e wEdE ward &
ficfafaa § @ fea a9 % 918 & shaa i mm.,qm \ . g 136. W Hlg : : TN : (2) " g s g R adae d
I & faerge awaty ? - Q% MM va fox sEmamd |
The average production of 2005 and (A8 ®5 (©F (D)3 lao+- ) e oL T | St § g w5 s
jon ; Den: : Rabbit:(?)
2006 was exactly equal to the average |14y gf2 o 7 oy W 2, +° T 3l 3 “|ss A) Trench B) Pit ue S AETEEal faciR Al W
production of which of the following L ' ITe L an Burrow D) Hole =ifgu
pairs of years ? TR FAAT A 0[S 137 BEMN:CONO::GIRL:() W T T T & 8 & ezt ¥
(A) 2002 3R/ and 2007 -y 63x24+8+4+2-3=" i fE=— 77 (a) EUQM %w M v, 199 3= A g A FEN
(B) 2004 31/ and 2005 AT~ | If*+" stands for division, *+* stands for ~ G DUQN. . @ &, e 4 S EEEa |
o 7 multiplication, *x' stands for subtraction - :.J, 138, Priiaa spf # food P € 7 (A) Fae RN E |
nﬁu - / and 2006 mw.n,.@ . e and *-' stands for addition, then ﬁM\Pﬁ‘“\\mma\ﬂp -3 How man __H_N_.._W—nm are there In the AWV w.mm—. | Uuw_.ﬂ I ﬂmﬂd 1
(D) 2006 3/ and 2007 542 63x24+8+4+2-3=7 i following higwrs 7 olEletl]  © FEmrsmTEEE
126. 2001 ) g i 2008 H A 5 I (A) 63 (60 (C)61 (D) 358 45 g2 wru—:’u. (D) FEeITEa R |
uﬁwﬂﬂﬂﬂﬂmﬁﬂmﬂu—ﬂ& ? 132, SR iy ._._.w @:@.@ OSmD aé £ Question given below consists of a
What was the approximate percentage =i o _ ¢ w\nﬁu_ statement, followed by four ar; ents
increase in production of mobile in 2008 Rt ) w1 @ 012 DS numbered I, 11, IIl and IV. You have to
compared 1o that in 2001 ? Choose the correct mirror image of the wm_. : 139. T e et fen & 9 Fordt =@ t, f mnn_% which of the argument(s) is/are
(A)  200% B) 183.33% given figure (X) from amongst the four £2%, T 3 g & +ir 4 el T 2, R A 'strong’ argument(s) and which is/are
(C) 195% D) 166.67% alternatives. ‘o ] 3 s & ik 10 Feeh e &, R weak’ argument(s) and accordingly
127, feg g =t & & fopert @l & HieRe w5 S : _ : choose your answer ffom the altematives
. z 3 ﬁ b ﬁ Au s_ L, { T S e & R4 fefiaaam 2 | iven below the question :
T gt % e e | Afuw o 7 m N ( J P m@_ﬂyﬂgwﬁaﬂf tatement : Should India go in for
In how many of the given years was the : A person moves in north direction by computetization in all possible
production of mobiles more than the xX) (N 2) 3 (C)] L 9 km, then turns left and moves Sn 4 km, . sectors ?
average production of the given years ? A4+ ®»2 ©3 O] D1 again tums left and moves by 10 km, Arguments:
A4 B2 ©3 (D)1 : ) LT again turns left and moves __u:_w..? mos I~ Yes. It will bring efficiency ang
128, fom =4 4 faod T8 9 T A I d 133, 9g 39 am@ o= S B & T @y 2 far the person is from initial position accuracy in the work._
Had 3= TR A TSR TN (A) 14f5dv14km (B) 4 4 km II.  No. It will be an injustice 10 1
sl g aHfum ot 7 o, ham, 5o . (0797 © ofm9km @ 1 km monumental _human __resources
In which year was the percentage ’ ' . , — 140. Preffea s § T YR R R, 96 which are at present underutilized,
increase in production as compared to Choose the Venn diagram which best Lt ) % REE R mﬁ HL. No. Computerization demands 3 oy
the previous year the maximum ? explains relationship among given : o i TTg TR TR RE M E, T T Y of money. We should not wagpe
(A) 2007 (B) 2003 Husband, Family, Wife ‘] T, % FU I Fh T A . poneyon .
() 2005 (D) 2002 O Ui wnd i | " L ducn SSpeneen countries are
. . - T . the following question, one word is ! i
129. 2003 & 2004 T TETEA & IqRA H (A) @ (B) O O 8 ' mﬁ_.” Eas%& four words, one of field, how can India 5.9._“_ _w#_mw
sty e froae 7= ¢ 7 # ! which cannot be formed using the letters A %EP 4
What, wis the approsimate, perceniage i of the given word. Find that word. a Ou“.w “_ Emn_ﬂﬁmﬂnmqosm.
decline in the production of mobile from T ADMINISTRATION O OnL I il A ctons:
0003 1o 2003 T (©) ©) e Mbw MINISTER ~ (B) STATION C) Quly1and L are strong.
___(A) 29% (B) 23% (C) 21% (D) 21% O g (@ RATON ©) MIND 1 ) TSI e
Fics s S, lfilhr;.lqv.})\,m)wialf P TV B e LATEY o, A e L Y AV AT TR A IJ._....:‘.’; 3 A 19 -)....:Immqﬁ(“w

T ———
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142, 12 o e weq 1§ w w o 3Es wel

3R 11 Fwifera 21 uromd f nd € | s
F AR Fefafes wromaii @ fEn
w2 Ak ol a1 R R e A
uren(d) Fua § sfafifea #/8 |
YT : 27 WA & FOEE AR e 9@
e A |
arond : 1. S 27 BT 96 HRETE § @
g TPt & |
IL tsefa 1 % o s
TH AR |
(A) FAIRAA 1 safifm D |
(B) ¥9a uTn 11 saffEm |
(©) =alm sfifm )
(D) Faw wmom | aafifea 2
In the question below a statement
followed by tweo assumptions numbered [

and Ilis given. You have to consider the

statement and the following assumptions
and decide which o

is‘are implicit in the statement.
Statement : Imprisonment for 27 years

made Mihir Kalal the President.

Assumptions :

I.  One who will be imprisoned for 27
years will become the President.

II. To become the President
imprisonment is a qualification.

(A) Neither I nor Il is implicit.

(B) Only assumption Il is implicit.

(C) Either I or II is implicit.

(D) Only assumption I is implicit.

T. & 143 & 147 : foreh T & e Tl &

71 & foqu Frafafas nres § -

Iefigan —

(1) =" 65% 3T %\ o Aol § T
it @ e B i | .

(2) 3 =57 qlign 7§ W Y W 50% AHF W

3)

feag
3 TR T | T 40% 1%y Ry
B

. 271g 1-10-2005 F1 21 T4 & F9 31 30

f the assumption(s).

wTar
A.

8}
@)
@)
)

A,

20

TR Infrean 3

Q. Nos. 143 to
for selection o
organisation :

The candidate must -

T :
2, R mﬂ_gﬁﬂm&ﬂﬁ_

ST (1) H, I 7004 37 &

By N A,
INH (2) m.@?@_ﬁn%#ﬂa
mﬂnﬁwﬂﬂ@ﬂnuﬁ_ﬂﬂgﬁm
w.ﬂﬂnﬂ.ﬂ @ﬁuum__ ﬁmﬂ%ﬂwwﬂﬂq

feufa & sgem g o & |

f computer professionals in an

be a Computer Engineer or MCA with
first class having minimum 65% marks,
have secured at least 50% marks in the
Selection Test,

have sccured at least 40% marks in the
Interview,

not be less than 21 years and not more
than 30 years of age as on 1-10-2005. -

In case of candidate who satisfies all other
criteria, except :

At (1) above, but is an Electronics

Engineer with 70% marks, the case may-

be referred to the GM, Recruitment.
At (2) above, but is having at least

< it

147 : Following are the criteria -

2 years' experience of working as a _

Systems Analyst, the case may be
referred to the Chairman, Recruitment
Committee, !
In each of the following question,
information about one candidate is given.
You have 1o analyse it with reference to
the above criteria and condition and ﬂ._.__ﬂ._
decide the appropriate course of action.’

You are not to assume anything other ' °

than the given information. All these
cases are given to you as on 1-10-2005.

LN CETE A PEVLATIY s R L T T LA T Y W U A TT S P e T

TR
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143. B 9@ 7 1998 ¥ 22 Wt 6 3w § 70%

3l % wry whe R | 3R mamen
# 55% ai I T Then @ 559, 3
Wt R 1 % 1999 & Yo v § o
Il F F Wi ¥y ol fg
2002  firen wfere w9 8 W g |
(A) R e Sfiem, il 1 S R |
(B) I Iwfican =1 A 7 R |
(C) 3t wmen vy, weff wfafy =) S
TR |

(D) 3R Iufgan & vz s |

Modi Jay did MCA in 1998 with 70%
marks at the age of 22 years. He scored
55% marks in Interview and 55% marks
in the Selection Test. He joined an IIT
company in 1999 as programmer and got

promoted as Systems Analyst in
December 2002,
(A) If the case is to be referred to the

GM, Recruitment.

(B) Ifthe candidate is not to be selected.
(C) If the case is to be refemed to the

Chairman, Recruitment Committee,

(D) Ifthe candidate is to be selected.

144. T 75% 3 ¥ T T Rufve FHAW

& | 71 9 6 T, 1976 W 5 U1 |

IR =97 qlten J 70% 3% T AR

% 429% 3 9 fa |

(A) R wET e, s B A a1

(B) 3fe Iufigar =1 wg= T fmn s
21

(C) afe wmen ey, s wivf =t S
EiciE

(D) i IHERF I T wm R |

Sanjay is a Civil Engineer with 75%

marks. He was born on 6® July, 1976, He

scored 70% marks in the Selection Test

and 42% marks in the Interview.

(A)

(B)
©

D)

GM, Recruitment.
If the candidate is not to be selected.

Chairman, Recruitment Committee.
1f the candidate is to be selected.

If the case is to be referred to the

If the case is to be referred to the

21

146.

145, firo, W S S, 2003 § 22 @

$1 3y & aifim whan § 72% il F @

el g | e e glan # 70% AF

S TERRTU 7 48% 31 e 6 |

(A) TIARE |

(B) R Imfear® o T R & |

(C) T wrwen areway, srfl Wi i Sl
IR

(D) T Iefigam =1 =47 fFa w1 |

Vijay, a Computer Engineer, mmmm.nm out

with 72% marks in the final examination

at the age of 22 years in 2003. He

secured 70% marks in the Selection Test

and 48% marks in the Interview,

(A) Datainadequate.

(B) Ifthe candidate is not to be selected.

(C) If the case is to be referred to the
Chairman, Recruitment Committee.

(D) Ifthe candidate is to be selected.

- fera 3 gt (amE) § 80% 2iw ik

T TP A 78% ot s fe |
=51 7T HR TR § 3 o1 HEW:
55% 3R 60% & | W% 2001 A foeew
TR w6 s R § | IR
st 19 w8, 19808 1

(A) e amen shaw, weff 1 S R
(B) Mm Iefiqan w1 w9 T8 R s
i

(C) 3R wren arema, i witfa =) Sy
FER |

(D) 3R I=fgam w v R w R )

Ankit scored 80% marks in B.Sc, (IT)

and 78% marks in Electronics

Engineering, His scores at the Selection

Test and the Interview are 55% and 602

respectively. He has been working as

Systems Analyst since 2001. His date of

birth is 19™ April, 1980.

(A) If the case is to be referred 1o the
GM, Recruitment.

(B) [fthe candidate is not to be selected,

(C) If the case is to be refered 10 the
Chairman, Recruitment Committee,

(D) If the candidate is 1o be selected,
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. ]
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o Ffiea 1 < T R TR |
Eg; 2 e avead, wiell afife S S

g | :
(D) af IefieEm & = TR S R |
Divya is a Computer Engineer with 80%
marks. She scored more than 55% marks
in the Interview and the Selection Test.
She has worked in XYZ company as a
Systems Analyst for more than 5 years.
(A) Data inadequate.
(B) Ifthe candidate is not to be selected,
(C) If the case is to be referred to the

Chairman, Recruitment Committee.
(D) Ifthe candidate is to be selected.

W UF g et ¥ w9 § A €,

T WM ¥ § 30fvd s & fevR @

=1 1 i T @ ofk wiE Rifm W=

ST Tl g | ATIH ¢

(A) M vata gga Uy § @ iz =
TR <t Efea T 2 =R |

(B) frww grar ghitsa =@t & R
R = T=m =ik ok i =
ferem - T v =g

(C) = SR I & i wew
T TR |

(D) YBaS % fore Iy = firar =@
% T =1 &1 i e = |

You are stationed as a police officer, an

agitated crowd at a local fair accuses a

teenager of theft and attempts mob

lynching. You should :

(A) let the mob punish the accused if
enough proof available.

(B) rescue the teenager and disperse
the mob to ensure fair trial.

(C) make the accused confess under
duress.

(D) use force to arrest the accused for

questioning.

e
TET L S ON P PTT TN (s PEUEA T e LA TYY,

=

149. gm Wt Tg- i T H IR wpg

ﬁ‘ﬁﬁqﬁ, AT .

(A) HIR % Wem ¥ wE A A
wiftm w3 & T =9 = why
T AR |

(B) wwum % fere raferent atfrmii
% |1y feraneT ) wega e =i

(C) wmHead W Tiem a1t Iughny
T I FHATS FHE =R |

(D) T HW BN R ANTEdER
S T IR |

As head of police in a riot-hit mixed

religious locality, you should :

(A) engage elders to reconcile groups
through dialogue.

(B) table concerns with municipal

authorities for resolution.
(C) act tough on miscreants crossing
community lines.
(D) impose indefinite

' curfew till
tensions subside.

. 39 & gfera el % wv § a9 §,

ITTh! ST T e el e
T ¥ aiug wW S i Rveein
SRR T8I & | 37T ;

(A) T Ifmm s w wfiey
AT =TRT 3R T ! wioafa @
=1fee | |

(B) TeHs ¥ w=¥ ¥ fg faww
TSREG! Y HILETS T 9 |

L © TagTeiter &1 & wgrae gierd o

ST =R |
(D) T whFw # wim w@ A
T =it =nfam |

You are stationed as a police officer, you
receive reliable information of preparations
to violently disrupt upcoming local body
elections. You should : i
(A)- ban political campaign events an
restrict assembly.
(B) conduct preventive
' avoid subversion.
(C) mobilize au
augmentation in
(D) * recommend
electoral process.,

ions 10
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148.

3 | IR FIETHR GﬁTWQﬂWﬁ ?5%

3 aftres 3t W R | B XYZ

3 5 ure Q it T O A

v m R e |

A) @Rl

(B) 3 Iwfieam &1 = T Rrn S R |

(C) af wmen avemw, Wit @i B W
TR | :

(D) fe IefiaR 1 =44 fFa T R |

Divya is a Computer Engineer with 80%

marks. She scored more than 55% marks

in the Interview and the Selection Test,

She has worked in XYZ company as a

Systems Analyst for more than 5 years,

(A) Data inadequate. - -

(B) Ifthe candidate is not to be selected.

(C) If the case is to be referred to the

Chairman, Recruitment Committee.
(D) If the candidate is to be selected.

Y T g et % w9 49w

T WHE 39 1§ 3[R i w6 fek w

= 1 I T § 3k Wi Rif w5

TATE T 2 | T | -

(A) R Tl wom Iueren & @) g 9
3Tt Y Tfea w0 3 =i |

(B) oy gram ghftem =0 ¥ fa
o =6 T=m =it ek ofie W)
fora—Torat e =i |

(C) T TR Fd ¥ T waw
HET =R |

(D) YBaTS % faw A =t e =@
% o =@ =1 v wen =fae )

. You are stationed as a police officer, an

agitated crowd at a local fair accuses a

teenager of theft and attempts mob

lynching. You should :

(A) let the mob punish the accused if
enough proof available.

(B) rescue the teenager and disperse
the mob to ensure fair trial.

(C) make the accused confess under

149. gm Wi wg-enfifen T # IR

& T H, AT ;

(A) HaR % AreEm A W H gy
wiitm w0 & e 98 9t win
HTT AT |

(B) TMuR % fore mwnferent arframtt
< Ty FRienafl =i wegd s =i

(©) wmge M wew a g
T HEA FHRATS FHE SR |

(D) W& HH FH wh AR
R} T =R |

As head of police in a riot-hit mixed

religious locality, you should : ,

(A) engage elders to reconcile groups
through dialogue,

(B) table concerns with municipal
authorities for resolution.

(C) act tough on miscreants crossing
community lines.

(D) impose indefinite

tensions subside. :
I T gierE el F w9 § e £,
JGH! IR = e e i e

curfew till

W AT F R A B P

SR ITod Bt 8 | STTa

(A) T IfEm wEF w hey
ST =R 3t T R wfeRa
R | . |

(B) Wewiz A = F fm PemE
T Y HHATS THEH! T |

B (C) Tgwher &5 3 wemes g™ watd

e =R

|
(D) T WhEE W i w@ A

Ry e =iy |
You are stationed as a police officer, you
receive reliable information of preparations
to violently disrupt upcoming local body
elections. You should : d
(A) ban political campaign events &n
restrict assembly. G o
(B) conduct preventive detentions ¥
~ avoid subversion,

(C) mobilize  auxiliary  polict
duress. . , augmentation in vulnerable areas,
(D) use fgrcn:: to arrest the accused for (D) ' recommend postponing !
questioning, . | electoral process.
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